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rdZ'kfDr ijh{k.k
funsZ'k (1-5) : nh x;h lwpuk ds vk/kj ij fuEufyf[kr iz'uksa
ds mÙkj nsa%

dksbZ 'kCn vFkok la[;k iqu%O;oLFkkiu e'khu ,d buiqV ykbu ('kCn
vkSj la[;k) Mkyus ij og mUgsa ,d fuf'pr fu;e dk vuqdj.k
djrs gq, O;ofLFkr djrh gSA ,d buiqV vkSj mldh iqu% O;oLFkk
uhps nh x;h gSA (lHkh la[;k,a nks vadksa okyh la[;k gSa)

buiqV : tall 48 13 rise alt 99 76 32 wise jar

high 28 56 barn

pj.k I : 13 tall 48 rise 99 76 32 wise jar

high 28 56 barn alt

pj.k II : 28 13 tall 48 rise 99 76 32 wise jar

high 56 alt barn

pj.k III : 32 28 13 tall 48 rise 99 76 wise jar

56 alt barn high

pj.k IV : 48 32 28 13 tall rise 99 76 wise 56

alt barn high jar

pj.k V : 56 48 32 28 13 tall 99 76 wise alt

barn high jar rise

pj.k VI : 76 56 48 32 28 13 99 wise alt barn

high jar rise tall

pj.k VII : 99 76 56 48 32 28 13 alt barn high

jar rise tall wise

;g vafre O;oLFkk gS vkSj pj.k VII buiqV dk vafre pj.k gSA
mijksDr fu;eksa ds vk/kj ij iz'uksa ds fy, muds buiqV ds
vuqlkj mi;qDr pj.k Kkr djsaA

buiqV : 84 why sit 14 32 not best ink feet 51 27

vain 68 92   (lHkh la[;k,a nks vadksa okyh la[;k gSa)

1. fuEufyf[kr vkmViqV] fn, x, buiqV dk dkSu lk  pj.k gS\
32 27 14 84 why sit not 51 vain 92 68 feet
best ink

(1) Step V (2) Step VI

(3) Step IV (4) Step III

(5) bl izdkj dks dksbZ pj.k ugha gS

2. dkSu lk 'kCn@la[;k pj.k V esa nk;ha rjiQ ls 5osa LFkku ij gS
(1) 14 (2) 92

(3) feet (4) best

(5) why

3. vkmViqV ds vafre pj.k esa ‘feet’ vkSj ‘32’ ds chp fdrus
in vk,axsA

(1) ,d (2) rhu

(3) pkj (4) ikap

(5) lkr

4. fuEufyf[kr esa ls dkSu lk pkSFks pj.k esa ‘why’ dk LFkku
n'kkZrk gS \

(1) ck;ha rjiQ ls vkBoka LFkku

(2) nk;ha rjiQ ls ikapoka LFkku

(3) ck;ha rjiQ ls NBk LFkku

(4) ck;ha rjiQ ls ikapoka LFkku

(5) ck;ha rjiQ ls lkrok¡ LFkku

5. fdlh buiqV dk pj.k II fn, x;k gSA buiqV D;k gksxk \

pj.k II : 21 16 zoo tan 59 95 kill dull

(1) buesa ls dksbZ ugha
(2) 95 kill dull 21 16 zoo tan 59

(3) 21 95 kill dull 16 zoo tan 59

(4) tan 59 95 kill dull 21 16 zoo

(5) 21 tan 59 95 kill dull 16 zoo

funsZ'k (6-10) : mÙkj nsus ds fy, nh x;h lwpuk dks è;kuiwoZd
i<+saA

fHkUUk cSadksa tSls& ;wdks cSad] flafMdsV cSad] dsujk cSad] iatkc us'kuy
cSad] nsuk cSad] vksfj,aVy cSad vkWiQ dkWEklZ] bafM;u cSad vkSj egkjk"Vª
cSad] ls vkB izfrfuf/ (izR;sd esa pkj) nks lekarj iafDr esa bl izdkj
ls cSBs gS dh fudVre cSBs izfrfuf/;ksa ds chp leku nwjh gSA igyh
iafDr esa A, B, C vkSj D nf{k.k dh rjiQ eqag djds cSBs gSaA nwljh
iafDr esa P, Q, R vkSj S mÙkj dh rjiQ eqag djds cSBs gSaA bl izdkj
ls nksuksa iafDr esa cSBs izfrfuf/ ,d&nwljs ds Bhd lkeus gSA (mQij nh
x;h izR;sd lwpuk dk vafre O;oLFkk esa leku Øe esa gksuk vfuok;Z
ugha gSA)

(A) C, egkjk"Vª cSad ds izfrfuf/ ds nk;ha rjiQ ls nqljs LFkku ij
cSBk gSA R, egkjk"Vª cSad ds lekus cSBs izfrfuf/ ds Bhd caxy
esa cSBk gSA

(B) R vkSj iatkc us'kuy cSad ds izfrfuf/ ds eè; dsoy ,d
O;fDr cSBk gSA iatkc us'kuy cSad ds izfrfuf/ dk fudVre
iM+kslh dsujk cSad ds izfrfuf/ ds lEeq[k cSBk gSA

(C) ;wdks cSad dk izfrfuf/] vksfj,aVy cSad vkWiQ dkWelZ ds
izfrfuf/ ds Bhd lkeus cSBk gSA R, vksfj;aVy cSad vkiQ
dkelZ dk izfruf/ ugha gSA P, iatkc us'kuy cSad dk
izfrfuf/ ugha gSA P, egkjk"Vª cSad ds izfrfuf/ Bhd lkeus ugha
cSBk gSA

(D) Q, nsuk cSad ds izfrfuf/ ds lkeus cSBk gSA S ds lkeus cSBk
O;fDr A ds Bhd ck,a cSBk gSA

(E) B iafDr ds vafre Nksj ij ugha cSBk gSA egkjk"Vª cSad dk
izfrfuf/ flafMdsV cSad ds izfrfuf/ ds lkeus ugha cSBk gSA
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Direction (1-5) : Study the following information
carefully and answer the given questions :

A word and number arrangement machine when
given an input line of words and numbers
rearranges them following a particular rule in each
step. The following is an illustration of input and
rearrangement. (All the number are two digits
number)

Input : tall 48 13 rise alt 99 76 32 wise jar
high 28 56 barn

Step I : 13 tall 48 rise 99 76 32 wise jar
high 28 56 barn alt

Step II : 28 13 tall 48 rise 99 76 32 wise jar
high 56 alt barn

Step III : 32 28 13 tall 48 rise 99 76 wise jar
56 alt barn high

Step IV : 48 32 28 13 tall rise 99 76 wise 56
alt barn high jar

Step V : 56 48 32 28 13 tall 99 76 wise alt
barn high jar rise

Step VI : 76 56 48 32 28 13 99 wise alt barn
high jar rise tall

Step VII : 99 76 56 48 32 28 13 alt barn high
jar rise tall wise

and Step VII is the last step of the above
input,

as the desired arrangement is obtained. As
per the rules followed in the above steps, find
out in each of the following questions the
appropriate step for the given input.

Input : 84 why sit 14 32 not best ink feet 51
27 vain 68 92   (All the numbers are two
digits numbers)

1. Which step number is the following output ?

32 27 14 84 why sit not 51 vain 92 68 feet
best ink

(1) Step V (2) Step VI

(3) Step IV (4) Step III

(5) There is no such step

2. Which word/number would be at 5th position
from the right in Step V ?

(1) 14 (2) 92

(3) feet (4) best

(5) why

3. How many elements (words or numbers) are
there between ‘feet’ and ‘32’ as they appear
in the last step of the output?

(1) One (2) Three

(3) Four (4) Five

(5) Seven

4. Which of the following represents the
position of ‘why’ in the fourth step ?

(1) Eighth from the left

(2) Fifth from the right

(3) Sixth form the left

(4) Fifth from the left

(5) Seventh form the left

5. Step II of certain input is given below. What
will be the input?

Step II : 21 16 zoo tan 59 95 dull kill

(1) None of these

(2) 95 kill dull 21 16 zoo tan 59

(3) 21 95 kill dull 16 zoo tan 59

(4) tan 59 95 kill dull 21 16 zoo

(5) 21 tan 59 95 kill dull 16 zoo

Direction (6-10) : Study the following information
carefully to answer the given questions

Eight persons form different banks viz. UCO bank,
Syndicate bank, Canara bank, PNB, Dena Bank,
Oriental Rank of Commerce, Indian bank and Bank
of Maharashtra are sitting in two parallel rows
containing four people each, in such a way that
there is an equal distance between adjacent
persons. In row - 1, A, B, C and D are seated and all
of the are facing south. In row - 2, P, Q, R and S are
seated and all of them are facing north. Therefore,
in the given seating arrangement each member
seated in a row faces another member of the other
row. (All the information given above does not
necessarily represent the order of seating as in
the final arrangement)

(A) C sits second to right of the person from Bank
of Maharashtra. R is an immediate neighbour
of the person who faces the person from Bank
of Maharashtra.

(B) Only one person sits between R and the person
from PNB. Immediate neighbour of the person
from PNB faces the person from Canara Bank.

(C) The person from UCO bank faces the person
from Oriental Bank of Commerce. R is not
from Oriental Bank of Commerce. P is not
from PNB. P does not face the person from
Bank of Maharashtra.

(D) Q faces the person from Dena bank. The one
who faces S sits to the immediate left of A.

(E) B does not sit at any of the extreme ends of
the line. The person from Bank of
Maharashtra does not face the person from
Syndicate bank.

REASONING
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6. A ds lUnHkZ esa fuEu esa ls dkSu lk lR; gS \

(1) ;wdks cSad dk izfrfuf/] A ds lkeus cSBk gSA

(2) egkjk"Vª cSad dk izfrfuf/] A ds Bhd cxy esa cSBk gSA

(3) A, R ds nk;ha rjiQ ls nwljs LFkku ij cSBs izfrfuf/ ds

lkeus cSBk gSA

(4) A, vksfj,aVy cSad vkWiQ dkWelZ dk izfrfuf/ gSA

(5) A iafDr ds fdlh ,d Nksj ij cSBk gSA

7. R vkSj iatkc us'kuy cSad ds izfrfuf/ ds chp esa dkSu cSBk gS \

(1) vksfj,aVy cSad vkWiQ dkWelZ dk izfrfuf/

(2) P

(3) Q

(4) flafMdsV cSad dk izfrfuf/

(5) S

8. fuEu esa ls dkSu iafDr ds Nksj ij cSBk gS \

(1) D vkSj iatkc us'kuy cSad dk izfrfuf/

(2) bafM;u cSad vkSj ;wdks cSad ds izfrfuf/

(3) nsuk cSad dk izfrfuf/

(4) flafMdsV cSad dk izfrfuf/ vkSj D

(5) C

9. fuEufyf[kr esa ls dkSu egkjk"Vª cSad ds lkeus cSBk gS \

(1) bafM;u cSad dk izfrfuf/

(2) P

(3) R

(4) flafMdsV CkSad dk izfrfuf/

(5) dsujk cSad dk izfrfuf/

10. fn, x, O;oLFkk ds vk/kj ij P, nsuk cSad ls mlh izdkj ls

lacaf/r gS tSls iatkc us'kuy cSad ls lacaf/r gSA blh iSVuZ

ij D, fuEufyf[kr esa ls fdl ls lacaf/r gS \

(1) flafMdsV cSad (2) dsujk cSad

(3) egkjk"Vª cSad (4) bafM;u cSad

(5) dsujk cSad dk izfrfuf/

funsZ'k (11–15) % uhps izR;sd iz'u esa rhu dFku vkSj mlds

ckn pkj fu"d"kZ I, II vkSj III fn, x, gSaaA vkidks fn,

x, dFkuksa dks lR; ekuuk gS] Hkys gh os loZKkr rF;ksa ls

fHkUu izrhr gksrs gksaA lHkh fu"d"kks± dks if<+,] fiQj r; dhft,

fd fn, x, fu"d"kks± esa dkSu&lk fu"d"kZ fn, x, dFkuksa dk

rdZlaxr :i ls vuqlj.k djrk gS] pkgs loZKkr rF; dqN

Hkh gksaA

11. dFku :

dqN ijh{kk VsLV gSA

dksbZ VsLV ifj.kke ugha gSA

dqN ifj.kke psrkouh gSA

fu"d"kZ :

I. dqN psrkouh VsLV gSA

II. lHkh psrkouh ds VsLV gksus dh laHkkouk gSA

III. lHkh psrkouh ds ijh{kk gksus dh laHkkouk gSA

(1) dsoy I ,oa III vuqlj.k djrs gSA

(2) dsoy III vuqlj.k djrk gSA

(3) dsoy I ;k II vuqlj.k djrs gSA

(4) lHkh vuqlj.k djrs gSA

(5) buesa ls dksbZ ugha

12. dFku :

lHkh cy mtkZ gSA

dksbZ Hkh cy 'kfDr ugha gSA

dqN 'kfDr;ka dk;Z gSA

fu"d"kZ :

I. dqN mtkZ 'kfDr;ka ugha gSA

II. laHkkouk gS fd lHkh dk;Z cy gksA

III. laHkkouk gS fd lHkh dk;Z mtkZ gksA

(1) dsoy I ,oa III vuqlj.k djrk gSA

(2) dsoy III vuqlj.k djrk gSA

(3) dsoy I vFkok II vuqlj.k djrk gSaA

(4) lHkh vuqlj.k djrs gSaA

(5) buesa ls dksbZ ugha

13. dFku :

dksbZ Hkh uksV flDdk ugha gSA

lHkh IykfLVd uksV gSA

dqN uksV psd gSA

fu"d"kZ :

I. dqN psd flDds ugha gSA

II. dqN psd ds IykfLVd gksus dh laHkkouk gSA

III. lHkh IykfLVdksa ds psd gksus dh laHkkouk gSA

(1) dsoy I ,oa III vuqlj.k djrk gSA

(2) dsoy III vuqlj.k djrk gSA

(3) dsoy I ;k II vuqlj.k djrk gSA

(4) lHkh vuqlj.k djrs gSA

(5) buesa ls dksbZ ugha
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6. Which of the following is true regarding A?

(1) The person from UCO bank faces A.

(2) The person from Bank of Maharashtra

is an immediate neighbour of A.

(3) A faces the person who sits second to

right of R.

(4) A is from oriental Bank of Commerce.

(5) A sits at one of the extreme ends of

the line.

7. Who is seated between R and the person from

PNB ?

(1) The person from Oriental Bank of

Commerce.

(2) P

(3) Q

(4) The person from Syndicate bank.

(5) S

8. Who amongst the following sit at extreme

ends of the rows?

(1) D and the person from PNB.

(2) The person from Indian bank and UCO

bank.

(3) The person form Dena bank and P.

(4) The persons from Syndicate bank and

D.

(5) Q

9. Who amongst the following faces the person

from Bank of Maharashtra?

(1) The person from Indian bank.

(2) P

(3) R

(4) The person from syndicate bank.

(5) The person from canara bank.

10. P is related to Dena bank in the same way

as B is related to PNB based on the given

arrangement, Who amongst the following is

D related to, following the same pattern ?

(1) Syndicate bank

(2) Canara bank

(3) Bank of maharashtra

(4) Indian bank

(5) Oriental bank of commerce

Directions (11-15) : In each of the questions

below are given three statements followed by

four conclusions numbered I, II and III. You have

to take the given statements to be true even if

they seem to be at variance with commonly

known facts. Read all the conclusions and then

decide which of the given conclusions logically

follows from the given statements disregarding

commonly known facts.

11. Statements :

Some exams are tests.

No test is a result.

Some results are warnings.

Conclusions :

I. Some wornings are test.

II. All warnings being test is possibility.

III. All warnings being exam is a possibility.

(1) Only I and III follow.

(2) Only III follow

(3) Only I or II follow

(4) All follow

(5) None of these

12. Statements :

All forces are energy.

No force a power.

Some powers are work.

Conclusions:

I. Some energy are not power.

II. All works being force is a possibility.

III. All works being Energy is a possibility.

(1) Only I and III follow

(2) only III follow

(3) Only I or II follow

(4) All follow

(5) None of these

13. Statements :

No note is a coin.

All plastics are notes.

Some notes are cheque.

Conclusions :

I. Some cheque are not coins.

II. All cheque being plastic is a possibility.

III. All plastic being cheque is a possibility.

(1) Only I and III follow

(2) Only III follow

(3) Only I or II follow

(4) All follow

(5) None of these
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14. dFku :

dqN ijh{kk VsLV gSA

dksbZ VsLV ifj.kke ugha gSA

dqN ifj.kke psrkouh gSA

fu"d"kZ :

I. lHkh psrkouh ifj.kke gSA

II. lHkh VsLV ds ijh{kk gksus ds laHkkouk gSA

III. lHkh ifj.kkeksa ds ijh{kk gksus dh laHkkouk gSA

(1) dsoy I ,oa III vuqlj.k djrk gSA

(2) dsoy III vuqlj.k djrk gSA

(3) dsoy III ;k II vuqlj.k djrk gSA

(4) lHkh vuqlj.k djrs gSA

(5) buesa ls dksbZ ugha

15. dFku :

lHkh cy mtkZ gSA

dksbZ Hkh cy 'kfDr ugha gSA

dqN 'kfDr;ka dk;Z gSA

fu"d"kZ :

I. dqN dk;Z ds 'kfDr gksus dh laHkkouk gS

II. lHkh mtkZ ds cy gksus dh laHkkouk gSA

III. dqN dk;Z fuf'pr :i ls mtkZ ugha gSA

(1) dsoy I ,oa III vuqlj.k djrk gSA

(2) dsoy III vuqlj.k djrk gSA

(3) dsoy I ;k II vuqlj.k djrk gSA

(4) dksbZ Hkh vuqlj.k ugha djrk gSA

(5) buesa ls dksbZ ugha

funsZ'k (16-20) : uhps fn, x, izR;sd iz'u esa ,d iz'u fn;k
x;k gS vkSj mlds uhps rhu dFku I, II vkSj III fn, x, gSA fu/
kZfjr dhft;s fd nh x;h lwpuk iz'u dk mÙkjnsus ds fy, i;kZIr
gS fd ugha I rhuksa dFkuksa dks if<;s vkSj

mÙkj pqusa (1) : ;fn dFku I vkSj II esa nh x;h tkudkjh mÙkj
nsus ds fy, i;kZIr gS] tcfd dFku III esa nh x;h tkudkjh
visf{kr ughaA
mÙkj pqusa (2) : ;fn dFku I vkSj III esa nh tkudkjh mÙkj nsus
ds fy, i;kZIr gS] tcfd dFku II esa nh x;h tkudkjh
visf{kr ughaA
mÙkj pqusa (3) : ;fn dFku II vkSj III esa nh x;h tkudkjh
mÙkj nsus ds fy, i;kZIr gS] tcfd dFku I esa nh x;h
tkudkjh visf{kr ughaA
mÙkj pqusa (4) : ;fn dFku I vdsys vFkok dFku II vdsyk
vFkok III vdsys mÙkj nsus ds fy, i;kZIr gSA
mÙkj pqusa (5) : ;fn dFku I, II vkSj III ,d lkFk mÙkj nsus
ds fy, vko';d gSA

16. N% O;fDr P, Q, R, S, T ,oa V ,d N% eaftyk bekjr ds

fofHkUu ry ij jgrs gS] ftlesa izR;sd N% eaftyksa dks 1 ls

6 vadks ls ukekafdr fd;k x;k gSA (lcls fupys ry dks 1

ls ukekafdr fd;k gS] mlds mQij ds ry dks 2 ls vkSj bl

izdkj lcls mQij ds ry dks 6 ls)

lcls mQij ds ry ij dkSu jgrk gS \

I. R vkSj Q ftl ry ij jgrs gS muds chp dsoy ,d ry

gSA P le la[;k okys ry ij jgrk gSA

II. T le la[;k okys ry ij ugha jgrk gSA Q le la[;k okys

ry ij jgrk gSA Q lcls mQij ds ry ij ugha jgrk gSA

III. S fo"ke la[;k okys ry ij jgrk gSA S vkSj P  ftu ryksa

ij jgrs gS ds chp nks ry gSa T, R ds Bhd mQij okys ry

ij jgrk gSA

17. N% v{kj gSa W, A, R, S, N vkSj EA D;k uhps fn, x,

izfØ;kvksa dks viukus ds ckn bUgh N% v{kjksa ds iz;ksx ls ,d

'kCn ‘ANSWER’ cuk;k tk ldrk gS \

I. E dks A ds nk;ha rjiQ ls pkSFks LFkku ij j[kk tkrk gSA S,

A vFkok E fdlh ,d ds Bhd ckn ugha j[kk tkrk gSA

II. R, E ds Bhd ckn (nk;ha vFkok ck;ha rjiQ) j[kk x;kA

III. N vkSj W nksuksa] S ds lkFk j[ks x,A 'kCn dk vkjaHk R ls

ugha gksrk gSA A dks W ds Bhd lkFk ugha j[kk x;kA

18. fcanq D, fcanq B ls fdl fn'kk esa fLFkr gS \

I. fcanq A, fcanq B ds if'pe esa gS fcanq C, fcanq B ds mÙkj esa

gSA fcanq D, fcanq C ds nf{k.k esa gSA

II. fcanq G fcanq D ds nf{k.k esa gSA fcanq G, gS fcanq B ls 4 ehVj

dh nwjh ij fcanq D, fcanq B ls 9 ehVj dh nwjh ij fLFkr gSA

III. fcanq A fcanq B ds if'pe esa gSA fcanq B, fcanq A vkSj E ds

fcydqy eè; esa gSA fcanq F fcanq E ds nf{k.k esa gSA fcanq D,

fcanq F ds if'pe esa gSA

19. ,d owQV Hkk"kk esa ‘One’ dks fdl izdkj dksM fd;k tkrk gS\

I. ‘one of its kind’ dks ‘zo pi ko fe’ vkSj ‘in

kind and cash’ dks ‘ga to ru ko’ fy[krs gSaA

II. ‘its point for origin’ dks ‘ba le fe mi’ vkSj

‘make a point clear’ dks ‘yu si mi de’ fy[krs

gSaA

III. ‘make money and cash’ dks ‘to mi ru hy’

vkSj ‘money of various kind’ dks ‘nil ko mn

hu’ fy[krs gSaA
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14. Statements :

Some exams are test.

No test is a result.

Some result are warnings.

Conclusions :

I. All warnings are gresult.

II. All test being exam is possibility.

III. All result being exam is a possibility.

(1) Only I and III follow

(2) Only III follow

(3) Only III or II follow

(4) All follow

(5) None of these

15. Statements :

All forces are energy.

No force a power.

Some powers are work.

Conclusions :

I. Some work being power is a possibility.

II. All energy being force is a possibility.

III. Some work are definitely not energy.

(1) Only I and III follow

(2) Only III follow

(3) Only I or II follow

(4) None follows

(5) None of these

Direction(16-20): Each of the question below

consists of a question and three statements

numbered I, II and III given below it. You have

to decide whether the data provided in the

statements are sufficient to answer the

question. Read all the three statements and

Give answer (1) If the data in Statement I

and II are sufficient to answer the question,

while the data in Statement III are not

required to answer the question.

Give answer (2) If the data in Statement I

and III are sufficient to answer the

question, while the data in Statement II are

not required to answer the question.

Give answer (3) If the data in Statement II

and III are sufficient to answer the

question, while the data in Statement I are

not required to answer the question.

Give answer (4) If the data either

Statement I alone or Statement II alone or

Statement III alone are sufficient to answer

the question.

Give answer (5) If the data in all Statement

I, II and III together are necessary to

answer the question.

16. Among six people P, Q, R, S, T and V each

lives on a different floor of a six storey

building having six floors numbered one to

six (the ground floor is numbered 1, the floor

above it, numbered 2 and so on and the

topmost floor is numbered 6).

Who lives on the topmost floor ?

I. T does not live on an even numbered floor. Q

lives on an even numbered floor. Q does not

live on the topmost floor.

II. There is only one floor between the floors

on which R and Q live. P lives on an even

numbered floor.

III. S lives on an odd numbered floor. There

are two floors between the floors on which

S and P live. T lives on a floor immediately

above R’s floor.

17. There are six letters W, A, R, S, N and E.

Is ‘ANSWER’ the word formed after

performing the following operations using

these six letters only ?

I. E is placed fourth to the right of A. S is

not placed immediately next to either A

or E.

II. R is placed immediately next (either left

or right) to E.

III. Both N and W are placed immediately next to

S. The word does not begin with R. A is not

placed immediately next to W.

18. Point D is in which direction with respect

to Point B ?

I. Point A is to the west of Point B. Point C is

to the north of Point B. Point D is to the

South-1 of Point C.

II. Point G is to the south of Point D. Point G

is 4m from Point B. Point D is 9m from

Point B.

III. Point A is to the west of Point B. Point B is

exactly midway between Point A and E.

Point F is to the south of Point E. Point D

is to the west of Point F.

19. How is ‘One’ coded in the code language ?

I. ‘one of its kind’ is coded as ‘zo pi ko fe’

and ‘in kind and cash’ is coded as ‘ga to

ru ko’

II. ‘its point for origin’ is coded as ‘ba le fe

mi’ and ‘make a point clear’ is coded as

‘yu si mi de’

III. ‘make money and cash’ is coded as ‘to

mi ru hy’ and ‘money of various kind’ is

coded as ‘nil ko mi hu’.
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20. D;k pkj nksLr A, B, C vkSj D ,d xksykdkj est fdukjs ds
dsanz dh rjiQ eqag djds cSBs gSaA

I. B, D ds nk;ha rjiQ ls nwljs LFkku ij cSBk gSA D dsanz dh

rjiQ eqag djds cSBk gS] C, B vkSj D nksuksa ds Bhd nk;ha

rjiQ cSBk gSA

II. A, B ds Bhd ck;ha rjiQ cSBk gSA C, A ds Bhd cxy esa ugha

cSBk gSA C, D ds nk;ha rjiQ cxy esa cSBk gSA

III. D, A vkSj C nksuksa ds cxy esa cSBk gSA B, A ds ck;ha rjiQ

cxy esa cSBk gSA C, B ds nk;ha rjiQ cxy esa cSBk gSA

funsZ'k (21-25) : mÙkj nsus ds fy, nh x;h lwpuk dks è;kuiwoZd

i<+saA

A, B, C, D, E, F, G vkSj H òÙk esa dsanz dh rjiQ eqag djds

cSBs gSA t:jh ugha fd mlh Øe esaA

I. B, H ds ifr ds ck;ha rjiQ ls nwljs LFkku ij gSA B dk

fudVre iM+kslh dksbZ efgyk ugh gSA

II. D dh iq=kh] F ds nk;ha rjiQ nwljs LFkku ij cSBh gSA F, G dh

cgu gSA F, H ds ifr ds Bhd cxy esa ugha cSBh gSaA

III. D, A vkSj C nksuksa ds cxy esa cSBk gSA B, A ds ck;ha rjiQ

cxy esa cSBk gSA C, B ds nk;ha rjiQ cny esa cSBk gSA

IV. H vkSj G ds eè; dsoy ,d O;fDr cSBk gSA G, C dh ek¡

gSA G, E dk fudVre iM+kslh ugha gSA

21. viuh lkl ds lanHkZ esa A dh fLFkfr D;k gS \

(1) Bhd ck;sa (2) nk;sa ls rhljk

(3) ck;ha ls rhjk (4) nk;sa ls nwljk

(5) ck;sa ls pkSFkk

22. fuEufyf[kr esa ls dkSu D dh iq =kh gS \

(1) B (2) C

(3) E (4) G

(5) H

23. viuh iksrs@iksrh ds lanHkZ esa A dh fLFkfr D;k gS \

(1) Bhd nk;sa (2) nk;sa ls rhljk

(3) ck;sa ls rhljk (4) ck;sa ls nwljk

(5) ck;sa ls pkSFkk

24. G vkSj mlds pkpk ds chp fdrus yksx cSBs gSa \

(1) ,d (2) nks

(3) rhu (4) pkj

(5) ck;sa ls pkSFkk

25. cSBu dh O;oLFkk ds lanHkZ esa fuEufyf[kr esa ls dkSu lk lR;

gS \

(1) C, E dh dtu gSA

(2) C mldk ifr ,d nwljs ds fudVre iM+kslh gSA

(3) C dh fudVre iM+kslh ugha gSA

(4) H viuh csVh ds ck;ha rjiQ ls rhljs LFkku ij cSBk gSA

(5) B, H dh ek¡ gSA

funsZ'k (26-27) : egRoiw.kZ iz'uksa ds ckjs esa fu.kZ; djrs le;

^^Bksl** vkSj ̂ ^detksj** rdZ ds chp izHksn dj lduk okaNuh;

gksrk gSA ̂ ^Bksl** rdZ egRoiw.kZ vkSj iz'u ls lhèks lacaf/r gksrs

gSaA ^^detksj** rdZ de egRoiw.kZ gksrs gSa vkSj iz'u ls lh/s

lacaf/r ugha Hkh gks ldrs gSa ;k fiQj iz'u ls uk ds cjkcj

lacafèkr gks ldrs gSaA

uhps fn, x, izR;sd iz'u ds ckn nks rdZ I vkSj II fn, x, gSaA vkidks

r; djuk gS fd dkSu&lk rdZ Bksl gS vkSj dkSu&lk detksj gS\

26. ewoht dks fu;af=kr fd;k tkuk pkfg, \

I. ugha : ewoht esa v'yhyrk vkSj fgalk dks vuqefr nh

tkuh pkfg,A

II. gk¡ : lsaljf'ki cksMZ ij vfr Je dk tkrh gSA

III. gk¡ : lsaljf'ki lwfpr djrk gS fd dqN yksx tkurs gS fd

lHkh ds fy, D;k lgh gS \

IV. gk¡ : ewoht Vsyhfotu ls izfrLi/kZ dj jgs gSA

(1) lHkh lcy gSA

(2) dsoy II fucZy gSA

(3) II ,oa IV fucZy gSA

(4) lHkh ncZy gSA

(5) buesa ls dksbZ ugha

27. bZekunkjh loksZre uhfr gSA

I. gk¡ : bZekunkj gksuk nh?kZdkyhu ykHk nsrk gSA

II. ugha : bZeknkjh dk izk;% iQk;nk mBk;k tkrk gSA

III. ugha : bZeknkjh dks dHkh dHkkj gh iz'kalk dh tkrh gSA

IV. gk¡ : ,d bZekunkj O;fDr dks iw.kZ Kku gksrk gS ,oa og

,d [kq'k O;fDr gksrk gSA

(1) I fucZy gSA (2) lHkh lcy gSA

(3) II fucZy gSA (4) III fucZy gSA

(5) buesa ls dksbZ ugha
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20. Are all the four friends viz. A, B, C and D
who are sitting around a circular table
facing centre?

I. B sits second to the right of D. D faces the
centre. C sits to immediate right of both
B and D.

II. A sits to immediate left of B. C is not an
immediate neighbor of  A.  C sits to
immediate right of D

III. D is an immediate neighbor of both A and
C. B sits to the immediate left of A. C sits
to the immediate right of B.

Direction (21-25) : Study the following
information carefully and answer the given
questions :

A, B, C, D, E, F, G and H are sitting around a
circle facing the centre but not necessarily in the
same order.

I. B sits second to left of H’s husband. No
female is an immediate neighbour of B.

II. D’s daughter sits second to right of F. F is the
sister of G. F is not an immediate neighbour
of H’s Husband.

III. Only one person sits between A and F. A is
the father of G. H’s brother D sits to the
immediate left of H’s mother. Only one person
sits between H’s mother and E.

(IV Only one person sits between H and G. G is
the mother of C. G is not an immediate
neighbour of E.

21. What is the position of A with respect to his
mother in - law ?

(1) Immediate left

(2) Third to the right

(3) Third to the left

(4) Second to the right

(5) Fourth to the left

22. Who amongst the following is D’s daughter?

(1) B (2) C

(3) E (4) G

(5) H

23. What is the position of A with respect to his
grand child?

(1) Immediate right

(2) Third to the right

(3) Third to the left

(4) Second to the left

(5) Fourth to the left

24. How many people sit between G and her uncle ?

(1) One (2) Two

(3) Three (4) Four

(5) More than four

25. Which of the following is true with respect

to the given’ seating arrangement ?

(1) C is the cousin of E

(2) H and H’s husband are immediate

neighbours of each other

(3) No female is an immediate neighbour

of C

(4) H sits third to left of her daughter

(5) B is the mother of H

Directions (26-27) : In making decisions about

important questions, it is desirable to be able

to distinguish between "Strong" arguments and

"Weak" arguments in so far  "Strong" arguments

are those which are both important and directly

related to the question. "Weak" arguments are

those which are of less importance and also may

not be directly related to the question or may

be related to a trivial aspect of the question.

Instructions: Each question below is followed by

two arguments numbered I and II. You have to

decide which of the argument is a strong

argument and which is a weak argument.

26. Movies should not be censored.

I. No : Movies can contain obscenity and

violence.

II. Yes : Censorship boards are overworked

anyway.

III. Yes : Censorship implies that a few

people know what is good for the rest.

IV. Yes : Movies are facing competition from

television.

(1) All are strong

(2) Only II is weak

(3) II and IV are weak

(4) All are weak

(5) None of these

27. Honesty is the best policy

I. Yes : To be honest pays is the long run.

II. No : Honesty is often taken advantage

of.

III. No : Honesty is rarely appreciated

IV. Yes : An honest person has a clear con-

science, and is a happier person.

(1) I is strong (2) All are strong

(3) II is strong (4) III is strong

(5) None of these
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funsZ'k (28-30): uhps fn, x, izR;sd iz'u esa ,d dFku fn;k
x;k gS vkSj mlds uhps rhu iwoZ/kj.kk,a I, II vkSj III nh xbZ
gSA dksbZ ekuh gqbZ ;k x`ghr ckr iwoZ/kj.kk dgykrh gSA vkidks
dFku vkSj nh xbZ iwoZ/kj.kkvksa nksuksa ij fopkj djuk gS vkSj fiQj
;g r; djuk gS fd dkSu&lh iwoZ/kj.kk dFku esa varfuZfgr gSA
28. dFku :

dsoy is'ksoj fu;qDr gks ldrs gSA vr% vki fu;qDr ugha gks
ldrs gSA
iwoZ/kj.kk :
I. ,d is'ksoj dh vko';drk gSA
II. vki ,d is'ksoj ugha gSA
(1) dsoy iwokZuqeku I gSA
(2) dsoy II iwokZuqeku gSA
(3) nksuksa iwokZuqeku gSA
(4) uk rks I vkSj uk gh II iwokZuqeku gSA

(5) ;k rks I vFkok II iwokZuqeku gSA

29. dFku :

ljdkj us Mhty dh dhersa c<+k nh gSA

iwoZ/kj.kk :

I. Mhty dh dher de FkhA

II. yksxksa us bl c<+ksrjh dk fojks/ fd;kA

(1) dsoy iwokZuqeku I gSA

(2) dsoy II iwokZuqeku gSA

(3) nksuksa iwokZuqeku gSA

(4) uk rks I vkSj uk gh II iwokZuqeku gSA

(5) ;k rks I vFkok II iwokZuqeku gSA

30. dFku :

[kq'kh dk lcls vPNk lk/u nksLrh gSA

iwoZ/kj.kk :

I. [kq'kh ds vkSj Hkh dbZ lk/u gSA

II. balku ges'kk [kq'kh ds fy, th;k gSA

(1) dsoy iwokZuqeku I gSA

(2) dsoy II iwokZuqeku gSA

(3) nksuksa iwokZuqeku gSA

(4) uk rks I vkSj uk gh II iwokZuqeku gSA

(5) ;k rks I vFkok II iwokZuqeku gSA

funsZ'k (31-35) : fuEufyf[kr iz'uksa esa izrhd @, #, %, $ vkSj

* dk iz;ksx fHkUu :iksa esa gqvk gS ftldk fooj.k uhps fn;k

x;k gSA

‘A @ B’ dk vFkZ gS ‘A, B ls NksVk ugha gS’

‘A # B’ dk vFkZ gS ‘A, B ls u rks NksVk gS u gh cjkcj gS’

‘A % B’ dk vFkZ gS ‘A, B ls u rks NksVk gS u gh cM+k gS’

‘A $ B’ dk vFkZ gS ‘A, B ls cM+k ugha gS’

‘A × B’ dk vFkZ gS ‘A, B ls u rks cMk gS u gh cjkcj gS’

mÙkj pqusa 1) : ;fn dsoy fu"d"kZ I lR; gSA

mÙkj pqusa 2) : ;fn dsoy fu"d"kZ II lR; gSA

mÙkj pqusa 3) : ;fn fu"d"kZ I vFkok II dksbZ ,d lR; gSA

mÙkj pqusa 4) : ;fn u rks fu"d"kZ I u gh II lR; gSA

mÙkj pqusa 5) : ;fn nksuksa fu"d"kZ I vkSj II lR; gSA

31. dFku :

C % D, E $ F, D # F, A @ B, B # C

fu"d"kZ :
I. E × A

II. C % F

32. dFku :

R % S, P $ Q, T × U, Q # R, S @ T

fu"d"kZ :
I. P # R

II. R × U

33. dFku :

E $ F, A @ B, B # C, D # F, C % D

fu"d"kZ :
I. D × A

II. A # D

34. dFku :

V $ W, Y # Z, X × Y, U $ V, W % X

fu"d"kZ :
I.  X @ U

II. U $ Z

35. dFku :

T × U, Q # R, S @ T, R % S, P $ Q

fu"d"kZ :
I. T × Q

II. P @ U
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Directions (28-30) : In each question below is

given a statement followed by three assumptions

numbered I, II and III. An assumption is something

supposed or taken for granted. You have to

consider the statement and the following

assumptions and decide which of the assumptions

is implicit in the statement.

28. Statement :

Only professionabls can be employed.

Hence you cannot be employed.

Assumptions :

I. A professional is required

II. You are not a professional

(1) Only I is an assumption

(2) Only II is and assumption

(3) Both I and II are assumptions

(4) Neithe I nor II is an assumption

(5) Either I or II is an assumption

29. Statement :

The goverment has increased the price of

diesel.

Assumptions :

I. The price of diesel was low

II. People opposed this increase

(1) Only I is an assumption

(2) Only II is and assumption

(3) Both I and II are assumptions

(4) Neithe I nor II is an assumption

(5) Either I or II is an assumption

30. Statement :

The best aid to happiness is friendship

Assumptions :

I. There are many aids to happiness

II. man lives for happiness

(1) Only I is an assumption

(2) Only II is and assumption

(3) Both I and II are assumptions

(4) Neithe I nor II is an assumption

(5) Either I or II is an assumption

Directions (31-35) : In the following questions,

the symbols @, #, %, $ and * are used with the

following meaning as illustrated below.

‘A @ B’ means ‘A Is not smaller than B’

‘A # B’ means ‘A is neither smaller than

nor equal to B’

‘A % B’ means ‘A is neither smaller than

nor greater than B’

‘A $ B’ means ‘A is not greater than B’

‘A × B’ means ‘A is neither greater than

nor equal to B’

Give answer 1) : If only conclusion I is true

Give answer 2) : If only conclusion II is true

Give answer 3) : If either conclusion I or II

is true

Give answer 4) : If neither conclusion I nor

II is true

Give answer 5) : If both conclusions I and II

are true

31. Statements :

C % D, E $ F, D # F, A @ B, B # C

Conclusion :

I. E × A

II. C % F

32. Statements :

R % S, P $ Q, T × U, Q # R, S @ T

Conclusion :

I. P # R

II. R × U

33. Statements :

E $ F, A @ B, B # C, D # F, C % D

Conclusion :

I. D × A

II. A # D

34. Statements :

V $ W, Y # Z, X × Y, U $ V, W % X

Conclusion :

I.  X @ U

II. U $ Z

35. Statements :

T × U, Q # R, S @ T, R % S, P $ Q

Conclusion :

I. T × Q

II. P @ U

www.anushkaacademy.com / www.anushkaias.com / www.gkindiatoday.com
Branches :- Subhash Nagar-8233223322,Shobhagpura-7727867730,Sec.14-9521314152,Ajmer-7340019191

ANUSHKA ACADEMY



AN
US

HK
A 

AC
AD

EM
Y

la[;kRed vfHk;ksX;rk
funsZ'k (36–40) : fuEufyf[kr iz'uksa esa iz'u&fpUg (\) ds
LFkku ij vkus okys la[;kvksa dk fudVre eku crk,a&
36. 5554.999 ÷ 50.0007 = ?

(1) 110 (2) 150
(3) 200 (4) 50
(5) 125

37. (18.001)3 = ?
(1) 5830 (2) 5500
(3) 6000 (4) 6480
(5) 5240

38. 23.001 × 18.999 × 7.998 = ?
(1) 4200 (2) 3000
(3) 3500 (4) 4000
(5) 2500

39. 9999 ÷ 99 ÷ 9 = ?
(1) 18 (2) 15
(3) 6 (4) 11
(5) 20

funsZ'k (40-42) : fuEufyf[kr Ja`[kyk esa iz'u&fpUg (\) ds
LFkku ij D;k vk;sxk \
40. 963,  927,  855,  747,  603,  423,  ?

(1) 209 (2) 208
(3) 207 (4) 206
(5) 205

41. 18,  20,  44,  138,  560,  2810,  ?
(1) 16818 (2) 16836
(3) 16854 (4) 16872
(5) 16890

42. 1200,  480,  192,  76.8,  30.72,  12.288,  ?
(1) 4.9152 (2) 5.8195
(3) 6.7112 (4) 7.6132
(5) 8.5172

43. 5,  9,  18,  34,  59,  95,  ?
(1) 272 (2) 168
(3) 116 (4) 148
(5) 144

funsZ'k (44–46) : fuEufyf[kr xzkiQ dks è;kuiwoZd vè;;u djsa
rFkk mlds vuqlkj mÙkj nsaA

nks&fofHkUu daifu;ksa ds fofo/ foHkkxksa esa dk;Zjr
deZpkfj;ksa dh la[;k (gtkj esa)

9

8

7

6

5

4

3

2

1

0
IT HR

daiuh A daiuh A

foi.ku foÙk izca/u 
foHkkx

d
eZp

kfj
;k
sa d

h 
la[

;k

44. daiuh B ds foi.ku foHkkx esa dk;Z djus okys deZpkfj;ksa dh
la[;k] mlh daiuh esa dk;Zjr deZpkfj;ksa dh dqy la[;k dk
fdruk izfr'kr gS \
(1) 30 (2) 28
(3) 23 (4) 32

(5) buesa ls dksbZ ugha
45. nksuksa daifu;ksa ds izca/u foHkkx esa dk;Zjr dqy deZpkfj;ksa dh

la[;k ,oa nksuksa daifu;ksa ds foÙk foHkkx esa dk;Zjr dqy
deZpkfj;ksa dh la[;k dks vuqikr Kkr djsa \
(1) 2 : 3 (2) 4 : 3
(3) 3 : 4 (4) 3 : 4

(5) buesa ls dksbZ ugha
46. daiuh A ds HR foHkkx esa dk;Zjr deZpkfj;ksa dh la[;k]

daiuh B ds foÙk foHkkx esa dk;Zjr deZpkfj;ksa dh la[;k dk
yxHkx fdruk izfr'kr gS \
(1) 44 (2) 207
(3) 53 (4) 229
(5) 198

47. fdl vuqikr esa ikuh dks nw/ ds lkFk fefJr fd;k tk, fd

foØ; djus ij ykxr ewY; dk 16
2

3
% ykHk gks \

(1) 1 : 6 (2) 6 : 1
(3) 2 : 3 (4) 3 : 2

(5) buesa ls dksbZ ugha
48. ,d vk;r ds ifjeki vkSj pkSM+kbZ dk vuqikr 5% 1 gSA ;fn

vk;r dk {ks=kiQy 216 oxZ lseh gS] rks mldh yackbZ crk, \
(1) 16 lseh (2) 18 lseh
(3) 24 lseh (4) MkVk vi;kZIr gSA
(5) buesa ls dksbZ ugha

49. ,d lkekU; gÝrs esa] 5 dk;Zfnol vkSj ,d dk;Zfnol esa 5
?kaVs dk;Z gksrk gSA fdlh O;fDr dks lkekU; dk;Z ds fy,
` 2-40 vkSj ̀  3-20 vfrfjDr le; esa dk;Z ds fy, feyrs
gSA ;fn og 4 gÝrksa esa dqy ̀  432 vftZr djrk gS] rks mlus
dqy fdrus ?kaVs dk;Z fd;k\
(1) 175 (2) 105
(3) 150 (4) 180
(5) 240

funsZ'k (50–52) : uhps fn, x, izR;sd iz'u esa ,d dFku ;k
iz'u vkSj nks dFku I vkSj II fn, x, gSaA vkidks fu.kZ; djuk
gS fd dFku esa fn;k x;k MkVk mÙkj nsus ds fy, iz;kIr gS
vFkok ughaA

mÙkj pqus (1) ;fn dFku I esa fn;k x;k MkVk vdsys mÙkj nsus
ds fy, i;kZIr ugha gSA
mÙkj pqus (2) ;fn dFku II esa fn;k x;k MkVk vdsys mÙkj
nsus ds fy, i;kZIr gSA tcfd dFku I esa fn;k x;k MkVk vdsys
i;kZIr ugha gSA
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QUANTITATIVE  APTITUDE
Directions (36–39) : What approximate value
should come in place of question mark (?) in
the following questions ? (You are not expected
to calculate the exact value).
36. 5554.999 ÷ 50.0007 = ?

(1) 110 (2) 150
(3) 200 (4) 50
(5) 125

37. (18.001)3 = ?
(1) 5830 (2) 5500
(3) 6000 (4) 6480
(5) 5240

38. 23.001 × 18.999 × 7.998 = ?
(1) 4200 (2) 3000
(3) 3500 (4) 4000
(5) 2500

39. 9999 ÷ 99 ÷ 9 = ?
(1) 18 (2) 15
(3) 6 (4) 11
(5) 20

Directions (40–43) : What should come in place
of questions mark (?) in the following number
series ?
40. 963,  927,  855,  747,  603,  423,  ?

(1) 209 (2) 208
(3) 207 (4) 206
(5) 205

41. 18,  20,  44,  138,  560,  2810,  ?
(1) 16818 (2) 16836
(3) 16854 (4) 16872
(5) 16890

42. 1200,  480,  192,  76.8,  30.72,  12.288,  ?
(1) 4.9152 (2) 5.8195
(3) 6.7112 (4) 7.6132
(5) 8.5172

43. 5,  9,  18,  34,  59,  95,  ?
(1) 272 (2) 168
(3) 116 (4) 148
(5) 144

Directions (44–46) : Study the following graph
carefully to answer the questions that follow.
Number (in hundred) of Employees Working

in Various Departments of Two Different
Companies
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p
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Departments 

Company A Company B

44. The number of employees working in mar-
keting department of Company B is what
percent of total number of employees of the
same company ?
(1) 30 (2) 28
(3) 23 (4) 32
(5) None of these

45. What is the respective ratio of the total num-
ber of employees working in Administration
departments of both companies to total num-
ber of employees working in Finance depart-
ments of both companies ?
(1) 2 : 3 (2) 4 : 3
(3) 3 : 4 (4) 3 : 4
(5) None of these

46. The number of employees working in HR
department of company A is approximately,
what percent of the number of employees
working in finance department of company
B ?
(1) 44 (2) 207
(3) 53 (4) 229
(5) 198

47. In what ratio water must be mixed with milk

to gain 16
2

3
% on selling the mixer at CP

(1) 1 : 6 (2) 6 : 1
(3) 2 : 3 (4) 3 : 2
(5) None of these

48. The ratio between the perimeter and the
breadth of a rectangle is 5 : 1. If the area of
the rectangle is 216 sq. cm, what is the
length of the rectangle?
(1) 16 cm (2) 18 cm
(3) 24 cm (4) Data inadequate
(5) None of these

49. In a regular week, there are 5 working days
and for each day, the working hours are 8.
A man gets ̀  2.40 per hour for regular work
and ` 3.20 per hours for overtime. If he
earns ` 432 in 4 weeks, then how many
hours does he work for ?
(1) 175 (2) 105
(3) 150 (4) 180
(5) 240

Directions (50–52) : Each of the questions given
below consists of a statement and / or a
question and two statements numbered I and
II given below it. You have to decide whether
the data provided in the statement(s) is / are
sufficient to answer the given question. Read
the both statements and

Give answer (1)  if the data in Statement I
alone are sufficient to answer the question,
while the data in Statement II alone are
not sufficient to answer the question.
Give answer (2)  if the data in Statement II
alone are sufficient to answer the question,
while the data in Statement I alone are not
sufficient to answer the question.
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mÙkj pqus (3) ;fn dFku I vFkok II nksuksa esa fn;k x;k MkVk
vdsys mÙkj nsus ds fy, i;kZIr gSA

mÙkj pqus (4) ;fn dFku I vkSj II nksuksa esa fn;k x;k MkVk
feydj mÙkj nsus ds fy, i;kZIr ugha gSA
mÙkj pqus (5) ;fn nksuksa dFku I vFkok II esa fn;k MkVk
feydj mÙkj nsus ds fy, vfuok;Z gSA

50. ;fn lisQnh djus dh nj ̀  20 izfr oxZ iqQV gS] rks fdlh dejs
dh van:uh nhokjksa ij lisQnh djus dh ykxr D;k gksxh\
I. tehu dk ifjeki 44 iQhV gSA
II. dejs ds nhokj dh mQ¡pkbZ 12 iQhV gSA

51. fdlh [ksy ds eSnku dk {ks=kiQy 1600 oxZ ehVj gSA ifjeki
D;k gksxk \
I. [ksy dk eSnku ,d oxZ gSA
II. ` 20 izfr oxZ ehVj dh nj ls [ksy ds eSnku dh nhokj

yxkus dh ykxr ` 3200 gSA
52. f=kHkqt dh mpkbZ fdruh gS \

I. f=kHkqt dk {ks=kiQy mlds vk/kj ls 20 xq.kk gSA
II. f=kHkqt dk ifjeki ml oxZ ds ifjeki ds cjkcj gS]

ftldh ,d Hkqtk 10 lsaVhehVj gSA
53. ` 1200 ij 10» izfro"kZ dh nj ls lk/kj.k vkSj pØo`f¼

C;kt ` 525 gSA mlh /ujk'kh ij nqxqus le; vkSj vk/s
izfrokf"kZd nj ij lk/kj.k C;kt D;k gksxk \
(1) ` 3 (2) `6

(3) ` 2 (4) `3.5

(5) ` 1.5

54. fdlh /u jk'kh ij 10» izfro"kZ dh nj ls 2 o"kZ dk pØòf¼
C;kt ` 525 gSA mlh /u jk'kh ij nqxqus le; vkSj vk/s
izfrokf"kZd nj ij lk/kj.k C;kt D;k gksxk \
(1) 600 (2) 500

(3) 400 (4) 550

(5) 580

55. ,d fuf'pr nwjh ,d fuf'pr le; esa r; dh x;h 1 ;fn
vk/h nwjh nqxqus le; esa r; dh x;h gks rks nksuksa xfr;ksa dk
vuqikr crk;s \
(1) 4 : 1 (2) 1:4

(3) 1 : 8 (4) 1 : 6

(5) 8 : 1

56. 52 iÙkksa okys ,d rk'k ds MCcs ls nks iÙks fudkys x,A D;k
lEHkkouk gS fd ,d iÙkk bZV vkSj nwljk iku gksxk \

(1)
5

102
(2)

5

102

(3)
3

13
(4)

3

5

(5)
1

13

57. ,d O;fDr /kjk dh fn'kk esa uko pkykus ds fy, ftruk le;
ysrk gS mlls nqxquk le; /kjk ds fo#¼ mruh gh nwjh r;
djus ds fy, ysrk gSA uko dh xfr 'kkar ty esa vkSj /kjk
dh xfr dk vuqikr Kkr djsaA
(1) 3 : 1 (2) 2 : 1

(3) 1 : 2 (4) 3 : 2

(5) buesa ls dksbZ ugha
funsZ'k (58–59) : fuEufyf[kr iz'uksa esa nks lehdj.k fn, x, gS]
tks I ,oa II ds :i esa vafdr gSA vkidks nksuksa lehdj.k gy
djus gS ,oa viuk mÙkj ns%

(1) x = y ;k laca/ LFkkfir ugha fd;k tk ldrk
(2) x  > y

(3) x < y

(4) x > = y

(5) x < = y

58. I. 2x2 - 5x + 3 = 0

II.  y= 3 28

59. I. x2 = 784 + 512

II. (y2 - 6x + 9) = 0

60. A, B vkSj C, 1 : 2 : 3 vuqikr esa iwath fuos'k djrs gS 14
ekg ds ckn] A vius fuos'k esa 50» izfr'kr dh o`f¼ djrk
gSA ;fn o"kZ ds var esa dqy ykHk ̀  22,800 gS] rks ykHk esa
B dk fgLlk Kkr djsaA
(1) ` 2100 (2) ` 2400

(3) ` 3600 (4) ` 4000

(5) buesa ls dksbZ ugha

funsZ'k (61-64) : nh xbZ lwpuk dks è;kuiwoZd i<+s rFkk uhps fn, x, iz'uksa dk mÙkj ns %
pkj egkuxjksa es ePNj fujks/d Øhe dk ekosZQV 'ks;j

   vof/@mRikn eqacbZ (2003-04) dksydkrk (2003-04)  fnYyh (2003-04)  psUubZ (2003-04)

c;ksu 20-15 35-30 20-15 20-30

fiQfuV 20-25 30-15 15-10 20-20

fgV 45-40 25-35 35-35 10-10
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Give answer (3) if the data either in
Statement I or in Statement II alone are
sufficient to answer the question.
Give answer (4) if the data even in both
Statements I and II together are not
sufficient to answer the question.
Give answer (5) if the data in both
Statements I and II together are necessary
to answer the questions.

50. What will be the cost of painting the inner
walls of a room if the rate of painting is ̀  20
per square foot?
I. Perimeter of the floor is 44 feet.
II. The height of the wall of the room is 12

feet.
51. The area of playground is 1600 m2. What is

the perimeter?
I. It is a perfect square playground.
II. It costs ̀  3200 to put a fence around the

playground at the rate of ̀  20 per metre.
52. What is the height of the triangle?

I. The area of the triangle is 20 times its
base.

II. The perimeter of the triangle is equal
to the perimeter of a square of side 10
cm.

53. The difference between simple interest and
compound on ` 1200 for one year at 10%
per  annum reckoned half-yearly is:
(1) ` 3 (2) ` 6
(3) ` 2 (4) ` 3.5
(5) ` 1.5

54. The compound interest on a certain sum
for 2 years at 10% per annum is ` 525. The
simple interest on the same sum for double
the time at half the rate percent per annum
is:
(1) 600 (2) 500
(3) 400 (4) 550
(5) 580

55. A certain distance is covered at a certain
speed. If half of this distance is covered in
double the time ,the ratio of the two speed is
(1) 4 : 1 (2) 1:4
(3) 1 : 8 (4) 1 : 6
(5) 8 : 1

56. Two cards are drawn together from a pack
of 52 cards. The probability that one is a
spade and one is a heart, is:

(1)
13

102
(2)

5

102

(3)
3

13
(4)

3

5

(5)
1

13

57. A man takes twice as long to row a distance
against the stream as to row the same
distance in favour of the stream. The ratio
of the speed of the boat (in still water) and
the stream is:
(1) 3 : 1 (2) 2 : 1
(3) 1 : 2 (4) 3 : 2
(5) None of these

Directions (58-59) : In each of the following
questions two equations numbered I and II are
given. You have to solve both the equations
and give answer if

(1) x = y and relation can not be establised
(2) x > y
(3) x < y
(4) x > = y
(5) x < = y

58. I. 2x2 - 5x + 3 = 0

II.  y= 3 28

59. I. x2 = 784 + 512
II. (y2 - 6x + 9) = 0

60. A, B and C enter into a partnership in the
ratio 1:2:3 After 4 months, A increases his
share 50%. If the total profit at the end of
one year be ` 22,800, then B’s share in the
profit is:
(1) ` 2100 (2) ` 2400
(3) ` 3600 (4) ` 4000

(5) None of these

Directions (61-64) : Study the following graph carefully and answer the question given below.

Market share of masquito Repellent in four metropolitan cities;

Period/product Mumbai (2003-04) Kolkata (2003-04) Delhi (2003-04) Chennai (2003-04)

Bayon 20-15 35-30 20-15 20-30

Finit 20-25 30-15 15-10 20-20

Hit 45-40 25-35 35-35 10-10

Mortein 15-20 10-20 10-10 50-40
www.anushkaacademy.com / www.anushkaias.com / www.gkindiatoday.com

Branches :- Subhash Nagar-8233223322,Shobhagpura-7727867730,Sec.14-9521314152,Ajmer-7340019191

ANUSHKA ACADEMY



AN
US

HK
A 

AC
AD

EM
Y

61. ekosZQV esa vf/dre izfr'kr o`f¼ gS&

(1) 60 (2) 100

(3) 80 (4) 50

(5) buesa ls dksbZ ugha

62. og 'kgj ftles 2003&04 ds nkSjku mRikn dh la[;k esa

U;wure deh ntZ dh x;h \

(1) eqacbZ (2) fnYyh

(3) psUubZ (4) dksydkrk

(5) buesa ls dksbZ ugha

63. 2003 ls 2004 ds nkSjku fdl mRikn ds fdlh Hkh 'kgj esa

ekosZQV 'ks;j esa o`f¼ ugha gqbZ \

(1) c;ksu

(2) fiQfuV

(3) fgV

(4) fu/kZfjr ugha fd;k tk ldrk

(5) buesa ls dksbZ ugha

64. mRiknksa dh la[;k ftudk ,d ;k ,d ls vf/d 'kgj esa

ekosZQV 'ks;j gS] Kkr djsaA

(1) 0 (2) 1

(3) 2 (4) 3

(5) buesa ls dksbZ ugha

funsZ'k (65–67) : fuEufyf[kr la[;k Ükz̀a[kyk esa iz'u fpUg (\)
ds LFkku ij D;k gksuk pkfg,\

65. 1
1

4
 + 1

5

9
× 1

5

8
 ÷ 6

1

2
 = ?

(1) 2
23

36
(2) 1

23

36

(3) 1
29

37
(4) 3

22

27

(5) buesa ls dksbZ ugha

66. ;fn 289 = 717
x

 gS] rks x = ?

(1) 16 (2) 8

(3) 32 (4)
2

5

(5) buesa ls dksbZ ugha

67. 0.01 × 0.1 – 0.0001 ÷ 10 + 0.01 = ?

(1) 0.01009 (2) 0.0101

(3) 0.19 (4) 0.109

(5) 0.01099

68. nks vadksa dh ,d la[;k ds vadksa dks tc ijLij cny fn;k

tkrk gS] rks izkIr la[;k ewy la[;k ls 54 de gksrh gSA ;fn

la[;k ds nksuksa vadks dk ;ksx 12 gS] rks ewy la[;k Kkr djsaA

(1) 28

(2) 39

(3) 82

(4) fu/kZfjr ugha fd;k tk ldrk

(5) buesa ls dksbZ ugha

69.  ` 731 dh ,d jkf'k dks A, B vkSj C esa bl izdkV ck¡Vk

tkrk gS fd A, B ls 25» vf/d izkIr djrk gS] B, C ls

25» de izkIr djrk gSA C dk jkf'k esa fgLlk Kkr djsa \

(1) ` 172 (2) ` 200

(3) ` 262 (4) ` 258

(5) buesa ls dksbZ ugha

70. ;fn 2 dye vkSj 5 fdrkcksa dk ewY;  ̀  100 gS] rks 8 dye

vkSj 20 fdrkcksa dk ewY; Kkr djsaA

(1) ` 200

(2) ` 300

(3) ` 400

(4) fu/kZfjr ugha fd;k tk ldrk

(5) buesa ls dksbZ ugha
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61. The maxium percentage increase in

market share is

(1) 60 (2) 100

(3) 80 (4) 50

(5) None of these

62. The city in which minimum number of

products decreased their market shares in

2003-04

(1) mumbai (2) Delhi

(3) Chennai (4) Kolkata

(5) None of these

63. The market shares of which products did

not increase in any city between the years

2003 to 2004.

(1) Bagon (2) Finit

(3) Hit (4) Can’t be detrmine

(5) None of these

64. The number of products which had constant

market shares in one or more cities is.

(1) 0 (2) 1

(3) 2 (4) 3

(5) None of these

Directions (65–67) : What should come in place

of question mark (?) in the following

questions?

65. 1
1

4
 + 1

5

9
× 1

5

8
 ÷ 6

1

2
 = ?

(1) 2
23

36
(2) 1

23

36

(3) 1
29

37
(4) 3

22

27

(5) None of these

66. If 289 = 717
x

, the x = ?

(1) 16 (2) 8

(3) 32 (4)
2

5

(5) None of these

67. 0.01 × 0.1 – 0.0001 ÷ 10 + 0.01 = ?

(1) 0.01009 (2) 0.0101

(3) 0.19 (4) 0.109

(5) 0.01099

68. The number obtained by interchanging the

two digits of a two digit number is lesser

than the original number by 54. If the sum

of the two digits of the number is 12, then

what is the original number ?

(1) 28

(2) 39

(3) 82

(4) Can't be determined

(5) None of these

69. A sum of ̀  731 is divided among A, B and C,

such that ‘A’ receives 25% more than ‘B’

and ‘B’ receives 25% less than ‘C’. What is

C's share in the amount ?

(1) ` 172 (2) ` 200

(3) ` 262 (4) ` 258

(5) None of these

70. If the cost of 2 pens and 5 books is ` 100,

what will be the cost of 8 pens and 20 books

of the same type ?

(1) ` 200

(2) ` 300

(3) ` 400

(4) Can't be determined

(5) None of these
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Directions (71-78) : Read the following passage
carefully and answer the questions given below.
Certain words/phrases have been printed in
bold to help you locate them.

The arrest of the Kashmir separatist leader
Masarat Alam Bhat within six weeks of his
release from jail shows an early collapse of the
‘healing touch’ policy adopted by the Jammu and
Kashmir government led by the Peoples
Democratic Party soon after coming to power. Mr.
Alam was a known troublemaker with the
potential to instigate violence, and little thought
seemed to have gone into the decision to let him
walk free from jail after more than four years in
detention. At a rally to be addressed by Hurriyat
chairman Syed Ali Shah Geelani in Srinagar, Mr.
Alam was at the head of a group of youths shouting
anti-India slogans and waving the Pakistan flag,
forcing the government to first place him under
house arrest and later take him into custody.
That the PDP and its partner in government, the
Bharatiya Janata Party, were divided on how to
deal with Mr. Alam was evident from the start.
Not only did the PDP fail to consult the BJP on
the issue, it appears to have underestimated the
sinister consequences of releasing Mr. Alam
without wresting any kind of assurances from
him. If Mr. Alam’s release last month
embarrassed the BJP, his arrest now is an
acceptance of failure by the PDP, which was at
pains to stress that while the released person
had a history of involvement with stone-pelting
he had never wielded a gun.

If political considerations weighed heavily
in the decision to release Mr. Alam, matters of
practical policing seemed to have forced the
government’s hand in ordering his rearrest.
Other than giving the hardliners in the Kashmir
dispute an opportunity to regroup, the release and
rearrest episode appears to have achieved little.
The Kashmir issue is not any closer to a solution.
Politically, both the PDP and the BJP will be seen
as having bungled in this case. In a state torn by
violence, flag-waving and sloganeering might
seem minor crimes, but the Jammu and Kashmir
government cannot be seen as ignoring the anti-
national implications of Mr. Alam’s waving the
Pakistan flag in the Valley. If the government does
not clamp down on this symbolic defiance, it will
only embolden the separatist forces. Political
autonomy for Kashmir will have to be negotiated
within the framework of India’s sovereignty and
the crackdown following the waving of the

Pakistani flag is a clear statement of intent and
purpose from both the State and Central
governments. The Masarat Alam release and
rearrest fiasco was an avoidable political
miscalculation. Nothing must be allowed to
undermine the credibility of a genuine political
initiative from the Mufti Sayeed administration,
which should pick up the threads of the earlier
dialogue between New Delhi and Srinagar on
proposals for more autonomy for the State.

71. Which of the following is the synonym of
the word ‘implications’  ?

(1) ramification (2) repercussion

(3) reverberation (4) All of the above

(5) None of the above

72. Which of the following is the meaning of
the word ‘healing touch policy’, according
to the passage ?

(1) Healing the wounds of kashmiris hurt
during the riot.

(2) A new method for relieving pain and
heel fast.

(3) Touching the soft and critical issues for
political benefits.

(4) Govt led scheme for the ones affected
during Kashmir floods.

(5) None of the above

73. Choose an appropriate Title for the above
passage :

(1) Heaven Becomes Hell

(2) Political Blunder

(3) Waving The Wrong Flag

(4) BJP and Its Mistake

(5) PDP and its decision

74. According to the passage, what
embarrassed BJP ?

(1) Re Arrest of Mashrat Alam after PDP
govt. freed him

(2) The act by its MP’s in Jammu Kashmir

(3) The act of waving Pakistan’s flag by
Mashrat Alam and sloganeering in
favour of Pakistan

(4) The release of Mashrat Alam when
PDP-BJP alliance came in power

(5) None of these

ENGLISH LANGUAGE & COMPREHENSION
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75. Which of the following is not true regarding
the passage ?

(A) Mashrat Alam was rearrested after he
instigated violence in the valley

B) Mashrat Alam was in detention for
about four years

C) There were sign of differences between
BJP and PDP on the rearrest of Mashrat
Alam

(1) Both A and B (2) Both A and C

(3) Both B and C (4) All A, B and C

(5) None of these

76. Which of the following is the synonym of
the word “wresting” ?

(1) spawn (2) engender

(3) prise (4) wrestling

(5) None of the above

77. Which of the following can be the meaning
of the word “Sinister” ?

(1) Upcoming issues that can lead to
certain consequences.

(2) giving the impression that something
harmful or evil will happen.

(3) forecasting the consequences

(4) cynical about the consequences

(5) pessimistic approach towards the
consequences

78. What is the synonym of  ‘defiance’ ?

(1) disobey (2) rebel against

(3) go against (4) flout

(5) All of the above

Directions (79-86) : In the following passage
there are blanks each of which has been
numbered. These numbers are printed below
the passage and against each, five words/
phrases are suggested one of which fits the
blank appropriately. Find out the appropriate
word/phrase in each case:

How do we explain this condition ? To a certain
...(79)..., this is ...(80)... in a society undergoing
...(81)... changes. In a variety of spheres, the old
order cannot continue on the conventions that
...(82)... it for so long. In politics, a deep passion
for elections and democracy remains one
encouraging trend. But whether representative
government is capable of measuring up to the
changing demands of the time remains an open
question. The state has still not adjusted to the
...(83)... shifts in power taking place in society
and therefore constantly exposes its own
limitations. The economic future, which after
decades of ...(84)..., had begun to look rosy,
suddenly seems a lot more uncertain. The

changes in society are even more profound on a
number of levels. Basic mores and ...(85)... are
changing rapidly: new economies of desire are
being ...(86)... in ways we barely fathom, a whole
range of social roles, particularly gender roles,
are being redefined. Who or what has authority,
who or what is valued is no longer clear.

79. (1) extent (2) extant

(3) magnitude (4) point

(5) execute

80. (1) unveiled (2) impending

(3) evitable (3) inevitable

(5) heralded

81. (1) vast (2) tiny

(3) trivial (3) developed

(5) minor

82. (1) discouraged (2) interdiction

(3) hindered (3) sustained

(5) hindered

83. (1) profound (2) deprived

(3) shallow (3) immaculate

(5) maundered

84. (1) derived (2) Appeased

(3) commissioned (3) operated

(5) stagnation

85. (1) insusceptible (2) sensibilities

(3) Invulnerable (3) unexposed

(5) surmounted

86. (1) bridled (2) inhibited

(3) restrained (3) unleashed

(5) constraint

Directions (87-91) : Read each sentence to find
out whether there is any grammatical error or
idiomatic error in it. The error, if any, will he
in one part of the sentence. The number of that
part is the answer. If there is ‘No error’, the
answer is ‘5’. (Ignore errors of punctuation, if
any).

87. There cannot be any situation where/ (1)
somebody makes money in an asset/ (2)
located in India and does not pay tax / (3)
either to India or to the country of this
origin. / (4) No error (5)

88. India has entered a downward spiral / (1) of
an aggressive monetary tightening policy
/ (2) and law abide sectors are subjected to
/ (3) saved amounts of multiple taxes. / (4)
No error (5)

89. The bank may have followed / (1) an
aggressive monetary tightening policy / (2)
but it’s stated aim of / (3) curbing inflation
have not been achieved. / (4) No error (5)
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90. Equal opportunities for advancement / (1)
across the length and breadth / (2) of an
organization will / (3) keep many problems
away. / (4) No error (5)

91. A customized data science degree / (1) is
yet to become / (2) a standard programme
/ (3) to India’s premier educational
institutes. / (4) No error (5)

Directions (92–96) : Rearrange the following six
sentences (1), (2), (3), (4), and (5) in the proper
sequence to form a meaningful paragraph; then
answer the questions given below them.

1. In the first decade after independence,
gender equality was recognized as a
significant problem and a greater amount
of effort went into assuring that exploitation
of women would be identified and responded
to with proper measures.

2. Prior to the enactment of these laws,
professionals and politicians were
extremely reluctant to identify the
necessary legal measures needed to boost
equality of the sexes.

3. Between 1952 and 1962, several laws were
designed to bring about equality to women.

4. Justice to women has to be recognized
publicly so that human service
professionals could respond with proper
action.

5. But after India became a republic, our new
power-holders came to believe that woman’s
equality was no longer a ‘family matter’ but
a social problem.

92.  Which of the following should be the FIRST
sentence after the rearrangement?

(1) 1 (2) 2

(3) 3 (4) 4

(5) 5

93.  Which of the following should be the SECOND
sentence after the rearrangement?

(1) 1 (2) 2

(3) 3 (4) 4

(5) 5

94.  Which of the following should be the THIRD
sentence after the rearrangement?

(1) 1 (2) 2

(3) 3 (4) 4

(5) 5

95.  Which of the following should be the FOURTH
sentence after the rearrangement?

(1) 1 (2) 2

(3) 3 (4) 4

(5) 5

96.  Which of the following should be the FIFTH
sentence after the rearrangement?

(1) 1 (2) 2

(3) 3 (4) 4

(5) 5

Directions (97-100) : In each one of the
following sentences, there are two blank
spaces. Below each sentence, there are five pairs
of words denoted by numbers (1), (2), (3), (4) and
(5). Find out which pair of words can be filled
up in the blanks in the sentence in the same
sequence to make it, meaningfully complete.

97. The product of a  religious home, he
often found  in prayer.

(1) conscientious, befuddlement

(2) devoutly, solace

(3) vigorously, comfort

(4) fervidly, reassurance

(5) pious, answers

98. Unruly people may become  when
they are treated with  by  those around
them.

(1) angry, kindness

(2) placated, obeisance

(3) peaceful, abuse

(4) riveted, change

(5) dangerous, love

99. With the current wave of crime, tourists are
 to make sure their passports are

secure, otherwise they should be ready for
the  consequences.

(1) required, best

(2) urged, worst

(3) exhorted, offensive

(4) invited, repressible

(5) permitted, deplorable

100. The presence of armed guards  us from
doing anything disruptive and hence, we did
not .

(1) defeated, upbraid

(2) excited, chide

(3) irritated, reprimand

(4) prevented, retaliate

(5) encouraged, castigate
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